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QUESTION 1

How does AnyConnect provide highly secure access for select enterprise mobile apps?
A. Per application VPN

B. Application Visibility and control

C. identity Service Engine

D. Secure Layer 2 Network Access

Correct Answer: A

QUESTION 2

What are two solutions Cisco offers for web securiity? (Choose Two) A. AMP for Web Security
B. NGFW

C. Cognitve Intelligence

D. CRES

E. Cloudlock

Correct Answer: AC

QUESTION 3

Which two areas require secure access? (Choose Two)
A. Worktable

B. Workspace

C. Workforce

D. Workloads

E. Worklow

Correct Answer: CD

QUESTION 4
How do AMP file trajectory capabilities help customers deal with malware?

A. tracks suspicious fie across the network to determine the scope of an outbreak
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B. regulates device access to malicious files on the network
C. eliminates malicious files from company and personal devices
D. tracks a file before it enters the network

Correct Answer: A

QUESTION 5

What are two common customer obstacles? (Choose Two)
A. Limited resources

B. High turnover of IT professionals

C. Lack of solution integration

D. Compliance regulations

E. Security system blackouts

Correct Answer: CD
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